OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (RRIR)

x®1-2 #ERRR - £XiE
(1 / 5R—=%)

sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
it
" X o
T 7 =a
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw

5 w | @ o
1| FERD KBS 19 2 28 0 19 0 0 19 1 1 2 0 4781 0 0 4781 1 1 3 4783
Py LBTFIL 1 1 1 1 0 0 0 1 1 1 2 0 0 0 0 0 0 0 1 1
475 Y LBROZDKEME 1 of 2] 1 of of o] of of o 130 0 0 0 130 0 0 0 130
6|75 ULBE2 —E ROFS TFIL 1 1 1 1 0 0 0 1 1 0 1 10 0 0 0 10 1 0 1 "
1NF7o B LTI —TFI 1 1 1 1 0 0 0 1 1 0 1 ¥ 0 0 0 1 ¥ 0 1 22
sl7 o LB A FIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 12 0 12 12
Blrer=ryL 1 i i 1 of o] o 1 1 0 1 38 0 0 0 38| 1100 of 1100 1138
6|2, 2 —PYERAYVTFO=-rYIL 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W|2-—F73ITH5—) 0 1 2| ol o of of o 1 1 2 0 0 0 0 0 3 3 5 5
W[BEETILFIRVEY LKV & CZED 0 2 2 0 0 0 0 0 2 1 3 0 0 0 0 0 120 0 120 120

B (FLXVEQREHAS10HL 14

TCOLDRUVEZDEEMIIES, )
N7 UVFEVRUVCFDIEEY 0 4 5 0 0 0 0 0 4 0 4 0 0 0 0 0 986 0 986 986
B|aHE 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 720 0 720 720
34[3—4 YL TF NAFIL—3, 5, 5—h 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

DAFI7A~NFUIIN=4AVITR—b
37|14, 4° —qyFOEYFVTS T/ —I 0 3 3 0 0 0 0 0 3 0 3 0 0 0 0 0 17 0 17 17

(B&EERT7 T/ —ILA)
RI2—AIFIYIVFAY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2 0 2 2
slo—TFIL=0—-4—=—rOTz=)=7 5 ol 24f o 5 0 0 5 0 0 0 0 71 0 0 71 0 0 0 7

IR/ FAT7—b (BIBREPN)
BlzFIIRVEY 98 7 108 98 0 0 0 98 7 0 7 23152 0 0 0 23152 10453 0 10453 33605
s7|lTFLY Y a—LE/ITFILT—FIL 1 1 1 1 0 0 0 1 1 0 1 9 0 0 0 9 29 0 29 38
ONITFL VYOIV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O|lTFL o7 I EEER 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
sltrsopoe kY v 1 0 1 1 0 0 0 1 0 0 0 4 0 0 0 4 0 0 0 4
692, 3—THEFLTFAPIL=JT=)T— 1 0 1 1 0 0 0 1 0 0 0 6 0 0 0 6 0 0 0 6

F

HHEE : fSH03FE



OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BEERID&RE (RRIR)
F1-2 #WEFRR  £KE
(2 / 5R=Y)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BIE Ko/ T v
He- %
B K& g%
T K4 AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| @& BE
NS E=8% 0 1 2 0 0 0 0 0 1 1 0 0 0 130000 0 130000 130000
BlIHRIYALARVZDILEY 6 of 24 0 6 0 0 6 0 0 0 17 17 0 0 0 17
80+ L v 133 12 159 133 0 0 0 133 12 12 44653 0 44653 25738 0 25738 70391
Q2|8B R Z DALY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
83| XV 1 1 1 1 0 0 0 1 1 1 380 0 380 1700 0 1700 2080
87/ O LRUV=MY O LLEY 6 2| 28 0 6 0 0 6 2 2 0 50 50 4600 0 4600 4650
88|75f 4~ O LML 5 1 26 0 5 0 0 5 1 1 0 34 34 1 0 1 35
M3|2—snon—4, 6—2 (TFILF7I/ 2 of 2 0 2 0 0 2 0 0 0 1 1 0 0 0 1
) =1, 3, 5=hNUT7IY (BEYTY
YXIFCAT)
12717 0AKRIL A 1 1 1 1 0 0 0 1 1 1 470 0 470 2700 0 2700 3170
132|an)L NRUTZDEEY 0 1 2 0 0 0 0 0 1 1 0 0 0 43 0 43 43
1BIBEEE2 — T hE>TFI (METFLYVY 1 1 1 1 0 0 0 1 1 1 470 0 470 850 0 850 1320
JIA—LVE/IFLI—FTITET—H)
44| 7 e GEIERUY 7 VRS 2 of 25 0 2 0 0 2 0 0 0 8 8 0 0 0 8
R<. )
147|IN, N=SIFIFFAHILNIVES—4 4 0 24 0 4 0 0 4 0 0 0 2 2 0 0 0 2
— 700XV I (BlaFANYAILTX
@IRVFAHA—T)
149|is{b k= 3 of 24 0 3 0 0 3 0 0 0 2 2 0 0 0 2
150(1, 4 —oAFH> 6 0 24 0 6 0 0 6 0 0 0 14 14 0 0 0 14
15711, 2—-yyQ0O0xT¥dY 3 0 24 0 3 0 0 3 0 0 0 2 2 0 0 0 2
1588|1, 1—ysoOxFLy (R&EibE= 4 of 24 0 4 0 0 4 0 0 0 2 2 0 0 0 2
VTv)
189|v2—1, 2—-v4O00TFL Y 4 0 24 0 4 0 0 4 0 0 0 2 2 0 0 0 2
17911, 3—=ysoo ARy (B1L4D—D) 3 0 24 0 3 0 0 3 0 0 0 2 2 0 0 0 2
186|100 xX4 Yy (BEEIAFLY) 12 5| 32 8 4 0 of 12 5 5| 31070 2 31072 6280 0 6280 37352
207| 2, 6—S—49—Sv Y —TFI—4—-7 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
LY=L
HEHERE « SH03FE




OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BEIERIDEE (RRR)
®1-2 WEFER - £
(3 / 5R=Y)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
B - %
E| T TokE %§r
7] =]
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= L) & ®BH
232N, N—=S A FILHRILATIR 2 0 2 2 0 0 0 2 0 0 7695 0 0 0 7695 0 0 0 7695
237[7KEE RO Z DL Y 2 1] 25 0 2 0 0 2 1 0 0 1 0 0 1 1 0 1 1
239|512 L& 0 2 2 0 0 0 0 0 2 0 0 0 0 0 0 6 0 6 6
20|z F L v 7 2 7 7 0 0 0 7 2 0 7865 0 0 0 7865 371 0 371 8236
R L Y RUZDILEY 6 of 24 0 6 0 0 6 0 0 0 5 0 0 5 0 0 0 5
283[5 4 A% V5T 3| 22[ 3] 21 11 0 of 32| 22 o 22| 753.201 0.799824 0 0754 @oess 9130.5778 0[9130.5778| 9884. 5786
24
25(FH7OEY7ZII—TIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
258]1, 3, 5, 7T—FrS7HrNYL O [ 0 1 1 0 0 0 0 0 1 0 0 0 0 0 0 54 0 54 54
3. 3. 1. 1(3, 7)1 TAY (B4
NEYAFLUYTRSIY)
22| NSHYOO0TFL Y 5 1| 27 2 3 0 0 5 1 0 27900 2 0 of 27902 3300 0 3300 31202
26517 h S E ROXFILEKT S ILEE ! 0 ! ! 0 0 0 ! 0 0 6 0 0 0 6 0 0 0 6
28|17 RSAFILFISLIZILT 14 K (BZ 3 2 26 0 3 0 0 3 2 0 0 1 0 0 1 198 0 198 199
FOSLXIEF S L)
22|18k MYE (SEIEARRC, ) 12 of 24 0 12 0 0 12 0 0 0 617 0 0 617 0 0 0 617
213[1 = KFH =)L (BIZJIL<IL— KT 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
JL7ILa—=))
21T NY T F LTIV 1 1 1 1 0 0 0 1 1 0 74 0 0 0 74 13 0 13 87
28Ny ITFLYF ARSI Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
219(1, 1, 1—=NYsOQxTHv Y 3 0 24 0 3 0 0 3 0 0 0 2 0 0 2 0 0 0 2
2801, 1, 2—hUsOOTY Y 3 of 24 0 3 0 0 3 0 0 0 2 0 0 2 0 0 0 2
281 YysoOTFL Y 5 1| 25 1 4 0 0 5 1 0 30 2 0 0 32 560 0 560 592
26|11, 2, 4—KNYAFIRYEY 116 2| 148 116 0 0 of 116 2 0 9467 0 0 0 9a67| 74270 of 74270 83737
29711, 3, 5—=KUAFIRVEY 61 2 96 61 0 0 0 61 2 0 4357 0 0 0 4357 21073 0 21073 25430
298| Ry LYSA YT R— R 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
300 M LT Y 138] 1) 138] 138 0 0 of 18[ 16 of 16| 246940 0 0 o 246940| 204843 o| 294843] 541783

HHEE : fSH03FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (RRIR)

R1—-2 #HERFRR - 2%
(4 / BR—%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
it B
g | T Tk o
7] =a
g WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
el w | & BE
304|8A 1 2 2 1 0 0 0 1 2 0 2 29 0 0 0 29 1030 0 1030 1059
305|881t & 5 1 27 0 5 0 0 5 1 0 1 0 9 0 0 9 1 0 1 20
308|=w b 1 1 3 1 0 0 0 1 1 0 1 29 0 0 0 29 18 0 18 47
309|= v LS 0 4 5 0 0 0 0 0 4 0 4 0 0 0 0 0 1464 0 1464 1464
IN|MBERVZEDEKIESY 6 of 24 0 6 0 0 6 0 0 0 0 10 0 0 10 0 0 0 10
3BBIN— (44— ROFYTI=L) FENT 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Ik
336l kOF/ v 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
39|77/ —)L 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 21 0 21 21
BBITHIEBER (2—TFIAFUI) 2 4 6 2 0 0 0 2 3 1 4 2 0 0 0 HIERIE of 3m3[ 31115
32IN— (49— v Y=—TFFJ) —2—RVY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 47 0 47 47
FPYI—IWNRAIILITVTIR
374 ,3\9{t7j($&0% 0)”(,@:&15 1 1 26 0 " 0 0 1" 1 0 1 0 220 0 0 220 24 0 24 244
‘4|11 —JoEFO/Y 1 1 1 1 0 0 0 1 1 0 1 600 0 0 0 600 1700 0 1700 2300
3VINEYAFLVYITIY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
NIAEFHAFLY=UAYDTR— N 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
32| J eI —~FH Y 11 3 mzf m 0 0 of m 3 0 3| 15294 0 0 of 15294 3219 0 3219 18513
400|RVE Y m 0 131 107 4 0 0 m 0 0 0 1377 2 0 0 1379 0 0 0 1379
405 ‘i5$ﬂ3€f¢@ 20 5 31 0 20 0 0 20 4 3 7 0 11749 0 0 11749 48 15 64 11812
206|RYEET =L (BIZLPCB) 2 of 24 0 2 0 0 2 0 0 0 0 1 0 0 1 0 0 0 1
07|RY (AFvITFLY) =FIFILIT—F 0 3 6 0 0 0 0 0 2 2 4 0 0 0 0 0 1402 44 1446 1446
W (PIVFIVEDQRREN 1 2H515F
TOEDRVZDEEWICRD, )
408|RY) (F*xvITFL V) =0 FIIT7x= 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 2 2 3 3
II—FI
09[Ry (AFvITFLY) =RFVILI—F 0 1 1 0 0 0 0 0 0 1 1 0 0 0 0 0 0 N 1 1
IWIRBBTRTIF MY DA

HHEE : fSH03FE



OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - RBEDERIDKE (RRR)
R1-2 MEFRY - 2%E
(5 / 5R—=Y)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
B K& Ejj%
T Tk AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B
410|RY (AFSTFLY) =/ Tt 0 1 3 0 0 0 0 0 1 1 2 0 0 0 1 1 3 3
I—7)
AMAEINLTILTER 2 1 4 2 0 0 0 2 1 0 1 2121 0 2121 1600 0 1600 3721
M2\ VARV FDILEEY 22 6 31 2 20 0 0 22 6 0 6 239 3395 3634 4835 0 4835 8469
43|mAk 7 & ILER 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
sk LA VER of o 1 of of of of of of of o 0 0 0 0 0 0 0
45| X & 4 ) JLEE 1 0 1 1 0 0 0 1 0 0 0 100 0 100 0 0 0 100
ABIX Y IEE2 —TFILANFVIL 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0
NI XGHYLEE2, 3—THEFSTOFIL 1 0 1 1 0 0 0 1 0 0 0 6 0 6 0 0 0 6
m8lx oo Y LB2 — (UAFILTI)) TF 1 0 1 1 0 0 0 1 0 0 0 1 0 1 0 0 0 1
W
49| X &Y LB LTI —TFI 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0
20X 55y LE X F I 2 0 2 2 0 0 0 2 0 0 0 75 0 75 0 0 0 75
4B AFIFT7HL YV 7 1 9 7 0 0 0 7 1 0 1 123 0 123 130 0 130 253
MBIXFLVER (4, 1=Tzx=ZLV) =Y 1 1 5 1 0 0 0 1 1 0 1 2 0 2 190 0 190 192
LYY TR—b
4522 — X W HT RRYIF T —)L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 88 0 88 88
s3|lEy TFEYRUGZOEEY 0 2 3 0 0 0 0 0 2 0 2 0 0 0 88 0 83 83
460V ABERNY R YL 0 i 1 0 0 0 0 0 1 0 1 0 0 0 9 0 9 9
55t 1031 148| 1793 842 191 0 0 1033 143 13 156 424734 21002 445736 627096 78 627174 1072910
HHEE : fSH03FE




